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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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FRALER R S TERE (4230 -

BRIASERRIERE100. 0 ml.

large discrepency for begining water status (29:270.0), set to 78.0 ml.

100.0), FIEEKRREERE
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PE6AW

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:45 213 90.0 E 1BRi&e07:45 Bzl (GRAEEE)
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2i3t]1704.0 (8%) 720.0 3EUHIKEC: 2270.0, PH: 6.5

BATHRERA (2.01) , RS
FERBALEN R S TMMER (439.0 -

BRIASERRIERE102. 0 ml.

102.0), FIREKRREERE
EOREBIRTC R IRAE R 2 (213 vs 188.0))

large discrepency for begining water status (117:252.0), set to 144.0 ml.
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PE6AW

BfE] | FEBRETC (F)) | ERE (EH/HK) | XK R
09:20 191 90.0 FH| {Ri%@09:20 Hzh (kKAEREE)
=21+ 191.0 (13%) 90.0 3ZGHIREC: 2340.0, PH: 6.4

AREMRERRA (2.07) , BFEE

TeREHLERE STHAERT (393.0 :

ZRIASERRIERE90. 0 ml.

90.0), AIREKRFBERME

large discrepency for begining water status (126:276.0), set to 156.0 ml.
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